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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

—@— ECO
5000 -

4500 -

4000 1 .\'\,/’\./.

3500

3000

: col ["FVOEC'] is missing
2500 A

0 5 10 15 20 25 30 35



Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-15 0
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P3-15

BYiE) | GEBERTIC (B)) | EBE (EAH/#K) = ERE

07:20 260 130.0 f|  FHRe07:20 KEFEF (RAIEREE)
08:15 260 130.0 f|  FiHAe08:15 KREFERF (KFEZE)
09:20 260 130.0 M| FiEAe09:20 KHEIEF (KRAHEEE)
10:25 260 130.0 1|  FHERe10:25 REFFEF (REAEZRER)
11:20 260 130.0 | FHAe11:20 KREFEF (RAERSE)
12:15 260 130.0 m|  FiHERe12:15 REFZEF (RFAEREE)
13:10 260 130.0 M| FiHAe13:10 KEEF (RAFESE)
14:05 260 130.0 f|  FHA@14:05 KREFEF (RAERSE)
15:10 260 130.0 M| FifAe15:10 KEIEF CGRAFER)
16:30 260 130.0 M| FiHAe16:30 KREIEF (KREAERSE)
23t 2600.0 (107%) 1300.0 3233 %EC: 2080.0, PH: 6.0
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P3-15_0, Day=35 (2025-05-05)
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P3-15

BriE) | EBIATK (7)) | EME (BEH/HK) | XKR ERE

07:10 2717 130.0 |Z=| 1Ri&e07:10 Bz (REB{EEEE)
08:10 277 130.0 (2 =| 1Ri%e08:10 Bz (kBHERSE)
09:15 277 130.0 |Z=| 1Ri&09:15 Bzl (REB{EEE)
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P3-15

AyiE) | EBIATK (FD) | EBE (BEH/HK) | XHR R

07:55 250 130.0 B {Bi&e07:55 Bzl (RPERE)
08:55 250 130.0 BE| {Ri&e08:55 Bz (REAEREE)
09:55 250 130.0 | {Ri%@09:55 Bz (REERSE)
10:55 250 130. 0 S| 1Ri%@10:55 Bz (REEESE)
12:00 250 130.0 e Rige12:00 Bz (REAERSE)
12:55 250 130.0 el Rige12:55 Bal (REAEESE)
14:00 250 130.0 B 1Rige14:00 B3h (REEESE)
15:25 250 130.0 BS| 1Ri%e15:25 Bz (GGREMEESE)
21t 2000.0 (8%%) 1040.0 3 H&KEC: 2080.0, PH: 5.8
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